
  

Calculer : 

8 + ( - 12 )



  

Correction :

8 + ( - 12 ) = - 4



  

Calculer : 

- 32 + ( - 13 )



  

Correction :

- 32 + ( - 13 ) = - 45



  

Calculer : 

20 - (- 12)



  

Correction :

20 - (-12) = 20 + 12
Soustraire un nombre revient à

ajouter son opposé.

                   = 32



  

Calculer : 

- 6 - 7



  

Correction :

- 6 – 7  = - 6  + ( - 7)
Soustraire un nombre revient à

ajouter son opposé.

                = - 13



  

Calculer : 

-6 + (- 15) - (- 6) - 15



  

Correction :

                                       =   - 15   +  (- 15)
                                       = - 30

- 6 + (- 15) - (- 6) - 15 = - 6 + (- 15) + 6 + (-15)

- 6 et 6 sont deux 
nombres opposés.

On a transformé les
soustractions en additions.
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